contained in yt is not enough to identify the matrix B0, and some additional restrictions are required. These additional restrictions can be obtained from the implications that theoretical models have on the expected behavior of the variables yt. In this sense, it can be affirmed that whereas in the VAR model of equation [2] the theoretical requirements are minimum (the set of variables whose interaction is going to be analyzed and the number of time lags to be included), in the SVAR model a greater theoretical content can be found, given by the model from which the above mentioned additional restrictions are obtained previously. 
Like VAR models in reduced form [2], VAR models in its structural form [4], under suitable conditions, can be transformed into the structural moving average form:

 yt = C(L) ut + h = (C0+C1L+C2L2+… +CsLs+…) ut + h          

[5]

where h is a vector (n x 1) of constants, and C(L) = B(L)–1.

Equation [5] represents the model [1] in moving average form with orthogonal shocks. Each element ij of the matrix Cs of the polynomial C(L) -csij- identifies the effect of an orthogonal unitary shock in yj (j=1,..,n) at date t -ujt- on the variable yi (i=1,..,n) at date t+s, under the assumption that there is not other kind of shock at date t or earlier. Therefore, the elements of matrix Cs describe the temporary effect of a unitary shock –impulse- on the model variables –response-. The matrix of dynamic multipliers Cs is known as the orthogonalized impulse-response function. To obtain the matrix polynomial C(L) it is required to calculate previously the matrix B0; and once we know B0, we can obtain ut from εt, and C(L) from Ψ(L) according to the equation C(L) = Ψ(L) B0-1.

Another basic element in VAR analysis, besides the impulse-response functions, is the variance decomposition of the forecasting error, from which it is possible to study the relative weight of each shock in the variability of the model endogenous variables. Thus, the weight of a shock in yj at date  t (ujt) in the variability of the variable yi at date t+s (yi t+s) will be given by:
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